3. [xWhole Numbers to 10]

Skill 3.1 Multiplying whole numbers from 1 to 10 by 1 or 10. ;_F E
Multiplication forms patterns. xl112/3/al5/6/7/8 910
Multiplication is the same as repeated additions. 1(7/2]3 6 78 9 10
Any number, multiplied by 1, equals the sum 2124 6 8|10 12|14 16|18 20
of 1 of the numbers. 3|3 6|9 12/15/18 2124|2730
Example: 6 x1=6 4
Hint: The number stays the same. 418112|16/20 24| 28| 52| 36| 40
5|5|10/15/20|25|30| 35|40 45| 50
Any number, multiplied by 10, equals the sum 6| 6|12 18 24]30 36| 42| 48| 54 60
of 10 of the numbers.
Example: 7|7 |14|21/28 35|42 |49 56| 63|70
6x10=6+6+6+6+6+6+6+6+6+6=60 |g| g 16/ 24 324048 56 64| 72|80
Hint: Add a zero to the number.
9|9 |18/27|36 45|54 |63 72|81|90
Multiplication is ‘counting by’ a number of times. 10|70/ 20/ 3040/ 5060 70 80|90 109

You can multiply by 1 by counting by that number, 1 time.

Example: 6
——
1 time

You can multiply by 10 by counting by that number, 10 times.
Example: 6, 12, 18, 24, 30, 36, 42, 48, 54, 60

10 times

Multiplication is reversable.
Example: 10 x6 =6 x10

Q. b 7 1l 4 8 | 5 31101 2 Q When you multiply
a number by 10,

x 10 add a zero to the
end of the number.

x 10| 60| 70|40 80| 10| 50| 30|/ 100| 20 | 90

a) 81014162121 5]/7
X |

b) 100140305712 8]26
x 10100
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Skill 3.2 Multiplying whole numbers from 1 to 10 by 5. i

Multiplication forms patterns. x|11213 4 6 7 8910
Multiplication is the same as repeated additions. 117 23 7 10
Any number, multiplied by 5, equals the sum 2|2 4|68 1012 1416|1820
of 5 of the numbers. 3|3/ 6|9 1215 1821|2427 30
Example: 9x5=94+9+9+9+9=45
4| 48|12/ 16/20|24 28|32| 36|40
Multiplication is ‘counting by’ a number of times. 5(5|10 15|20/ 25|30 35|40|45 50
You can multiply by 5 by counting by that 6| 6 |12/18/24 30| 36|42|48| 54|60
number, 5 times. 7|7 14/ 21 2835 42 49| 56|63 70
Example: 9, 18, 27, 36, 45
8|8 162413214048 | 56|64 |72|80
> times 9|9 1827 36|45 54 63 72| 81|90
Multiplication is reversable.
Example: 9x5=5x9 10| 70|20 30| 40|50 60| 70| 80 90100

Hint: Multiplying by 5 produces a value that is half that of a multiplication by 10.
I9x10=90
I9x5=45

Hint: Multiplying by 5 produces a value that always ends in 0 or 5.

Hint: Multiplying by 5 produces the same values as the minutes on a clock face.

Q N 2115|718 310]6]| 4
X 5

A N 21105718 310]6]| 4
X5145| 10| 5 || 25| 35| 40| 15| 50| 30| 20

X 9 (|25
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Skill 3.3  Multiplying whole numbers from 1 to 10 by 2 or 4. %é

Multiplication forms patterns.

X|11/2/3/4/5 6|7 8|9 10
Multiplication is the same as repeated additions. 117,23 718910
Any number, multiplied by 2, 2124 6 8|10 12|14 16| 18 20
equals the sum of 2 of the numbers. 33 6 9|12 151821 24| 27|30
Example: 7x2=7+7=14
4|1 4|8 |12|16|20 24|28 32|36|40
Any number, multiplied by 4, 5|5 101520253035 40 45|50
equals the sum of 4 of the numbers
12118 |24 42| 4 4
Example: 7x4=7+7+7+7 =28 6|6 8 30|36 i
7|7 14 21128 35/ 42|49|56 63|70
Multiplication is ‘counting by’ a number of times. 8|8 1612432 40 48 56| 64| 72| 80
You can multiply by 4 9|9 |18/2736|45 54|63 72|81 90
by counting by that number, 4 times.
Example: 7, 14, 21, 28 10| 10|20 30|40|50 60| 70 80 90|100
D ES—

4 times

Multiplication is reversable.
Example: 7x2=2x7

Hint: Multiplying by 2 always produces an even number.

Hint: Multiplying by 2 is the same as doubling.
Double 7is 14 OR 7x 2 =14

Hint: Multiplying by 4 is the same as doubling the number and then multiplying by 2.
7x4=14x2=28

Q. G 38T 7921104125
X 4

A. S 3817920104125
x4 124 12| 32| 4 |28 36| 8 |[40]| 16| 20

a) SN8(2173(T11]6][10|¢9] 4 5x 2
<210 290 e
b) W10 5 141917112161 118 3x4
=6 X 2 Double 3
x4 (12 =12 and x by 2
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Skill 3.4  Multiplying whole numbers from 1 to 10 by 3. EEE

Multiplication forms patterns.

X|1,2/3|4 5|67 89|10
Multiplication is the same as repeated additions. 1(17/2/3/ 45 6/7|8|9]|10
Any number, multiplied by 3, 2124 6 8|10 12|14 16|18 20
equals the sum of 3 of the numbers. 33 6| 9|12 1518|2124 27| 30
Example: 8 x3=8+8+8=24
4| 4| 8|12|16|20 24|28|32|36|40
Multiplication is ‘counting by’ a number of times. 5|5 101520253035 40 45|50
You can multiply by 3 6|6 12 18|24 3036|4248 54|60
by counting by that number, 3 times. 7| 714 2112835 42| 49| 56| 63| 70
Example: 8, 16, 24
m;’ 8|8|16/24/32/40|48 |56 |64 72|80
9| 9|18/27|36|45|54|63|72|81|90
Multiplication is reversable.
Example: 8 x3 =3x8 10| 10|20 30|40|50 60| 70 80 90|100

Q N 116N 71302141 5]]10
X 3

A 8N 1T169Q1 7 45|10
x3 24| 3| 18| 27|21 91| 61| 12| 15| 30

a) 6140101 T (5879 3] 2
X318
b) 105981471 2]10] 6] 3
X3 3

page 14 www.mathsmate.co.nz © Maths Mate 3.2/4.1 Skill Builder 3




Skill 3.5  Multiplying whole numbers from 1 to 10 by 6, 7, 8 or 9. &E

e Number the fingers on each hand from 6 to 10 starting with the thumb as 6.

-
e Touch the appropriate fingers together to match

the table you are working on. Example: 7 x 8
e Count your thumbs, the touching fingers and any fingers in between (shaded lightly).
This result makes up the tens.
(2 fingers on left hand, 3 fingers onrighthand) =2+ 3 =5
5 tens =50
e Count separately, the fingers on each hand that are beyond the touching fingers
(shaded dark).
Multiply the sums. This result makes up the units.
(3 fingers on left hand, 2 fingers on right hand) =3 x2=6

6 units =6
e Finally add the tens and units.
50+ 6 =56
So7x8=56
Q. 6l 2185 18 7]4]10]3]| 9
X/
A 6l2 5] 1)8]7]4]103]29
X/ ||42) 14| 35| 7 || 56| 49| 28| 70 || 21 || 63

6XxX7="7 1 +2 =3 tens =30 (light fingers)
4 x 3 =12 units = 12 (dark fingers)
30+ 12=42
So 6 x7=42
a) QN4 0725|6103 1] 38
X8 ||72
b) o662 (81015141917
x 7 |21
c) Ne6eyds 8143|7102
X 6
d) Af2019)17)3)8]5]| 61|10
X 9
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Skill 3.6  Multiplying whole numbers from 1 to 10 by 9.
e Number the fingers on each hand from 1 to 10.
23 4 789

1 10
56

e Bend the finger that matches the 9x table you are working on.
Example: For 8 x 9, bend the 8th finger.

¢ Count the fingers before the bent finger. This result makes up the tens.
7 fingers = 7 tens =70

e Count the fingers after the bent finger. This result makes up the units.
2 fingers = 2 units =2

e Add the tens and units.

o B

70+2=72
So 8x9=72
Q. 75T 228 10]61] 3] 4
X 9
A 705119 2]8[10]6]3]4
X9 1163|45| 9 || 81| 18| 72| 90| 54| 27| 36
6, v, 9 & /.2, 9 52 7
\J’\ X‘f\ Xo\ X/\\ d)\\ X?\ Xo\ X?\ X)\ XG\\
S Yo Yo 9 9 9 o 9 "9 Yo
Hint:  When multiplying by 9, the digits in the answer always add to 9.
234 (789\ To find 7 X 9 = 7, bend the 7th finger.
1 5 4 10 6 fingers before the bent finger = 6 tens = 60
3 fingers after the bent finger = 3 units =3
60 +3 =063
So 7x9=63
a) ANsS|27016 91000711 3]| 8
X9 136
b) 1062118541927
X9 |27
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